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Question 1.  [6 Manks]
The clasmes Gaffa and lunchlfdaffaa beath compils and Bimchféatfea mima withant armar.

Midterm Tagt #2 {am] Sprimg 2002

Fik on glann tm 111nAtrate acme miatsaben fimi a compenicn to GAYFes claas

-y

pahlic £laas Gavdes

private int nmm:

£ = Imaertion point o =

-/
pobl ie elass EmnehChGarfes o
private Gar¥es mi;

Sf = Inawtien point C &

public int inevdnmiint incremsnt) { public atatic vold main(String [1 awga)

£ Inasticn point B *

retmin num:
¥

¥

£ w Inaeyticn point O &
GarFes[] mam new Garres[2]:
£ = Inaerticn point E &=

¥
}

Tivaluate the ineertione auggeated below in numerical arder. T ym belisve an ineertien will canae a eom-

pilatian errar, write conpile-time arrar underneath it Ty befieve an ineerticon will compile praperly,
but will canee an errar af mun fime, write mo-time error underneath it T sou befieve an ineertiom wdll
canae nia problem, write akay undarmeath it and make the ineertion. Motics that sinee fou are caoneidering
the ineerhione in mmerical arder, an arlier ineertan may affect our anewer m & later mesrhian.

1.

Tneert, abeiwe maertion peint T

akay

. Ineert belowr masrtion paint T

campile-tima arrar

. Ineert sbawe meertion pant C:

akay

. Tnrert sbawe meertian pant T

campile-tima arrar

. Tneert. belowr meertian peant T

campile-tima arrar

. Inpert sbave meerhiaon peint T

run—tima arrar

int i;

mim= increameant + ij;

privata static Gaffsa m2= oew Gaffea{);

int j= mi.incr¥um{Z);

int b= m2.mm;

int k= ma[d].iocrNum{d);
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Question 2. [3 Manxs]
Part (&) [3 manxs]

Reard the implemantation of the methad belaw. ¥Which sahiea of num #ill canee is¥aclaft{num) ta raturm
trua?

avean mmbars from § to A586, inclusiva

pohllie Texslean iaYeeleft{int nomj{
iF {aam < B) L
rebnrn Falaw,

¥
i¥f {nam > ZEE6) |
Yabarn Falaw,

¥
1F (inmm ¥ 2) mm 1) {
¥atarn Falaw;

¥
Yetnrn trme !

¥

Question 8. [1 manxs]

Amnme that warda 8 an armay af String, and that mch slement of words reference o String of paAitive
lengkh. ¥Write a rde fragment (not & mebhod) that uees a loop fa stare the firat charecker of sorda [8] in
String variable initiala, then adda the firet charecter of worda[1] to the end of initiala, and Ao on
until it finally adds the firat character of sordalwords . Langth-1] to the end of initials.

String initiala= "';

for {int i=0; i != words.langth; i) {
initiala= initisla + warda[il.avbetring(f,1]);

¥

Question 4.  [¢ manxs]
Head the implementation af the method belmw. ¥What String s retummed by smsh{*abedaf "} T

fdbace ia raturnad.

puhlic atatic String ammah({String weigh {
Et_r’_u.s “ﬁ“in.r IIII:
for (it im O L !m ceig. lenghhid; f4+d
o (LK 2 mo) ]
tonEty ingm tapString + orlg. chavae{i};

elnw
topStringm orig. charit{i) + topString:
}
I
retmyn tmpString:
}
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Question 5. [12 manks)

Part {a) [7 WMaRKS]
¥¥rita the conetructor and agquala methad for the class Individual belmr.

f#** Individus] models a paraan with a nama and haeight
*f
public clasa Individual {

{# haight, in camtimetara

privata int haight;

ff full nama, as a singla Stwring

privata String nama;

f= [3 marka]
* panatructar: creata a new Individual with height h and

* [omd o,
*f
public Individual {iot h, Striog o) {
height= h;
n=ma= n;
}
f+= [& marksl
* equala: retwrn trua if this Individual's haight differs fram
* gthar's haight by leas than 2 cantimetera, AMD if thia
* Individual's nama has the same laogth as ather'a name AN
*  thay match, charsctear-hy-cheractar, except in {at most) 2
* poaitiona. Far eaxampla "lanny* and "lanyn" bawa tha
* asma length, and they differ in aly 2 positiona {the last 2}.

xf
public hoolasn aguala{Individnal athar) {
if {other == oull || {other.name = null & name '= mll) ||
{other.nama '= null & nama == onll) ||
Hath.asha{haight - athar.haight} > 2} {
raturn falsa;
}
if {athar.nama == null ¥ nama == nnll) { ratwrn trua;
if (peme.length{) != othar.meme.langth() } { raturn falsa; I
imt diff=q;
far (int i= 0O; i '= nama.lapgth{) ; i++) {
if {pama.charit{i) != other.nams.chardt{i}) { diff++; }

1
raturn diff < A;
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Part {b) [5 manrks]

Ligt five teat rarm for the aguala method of el Individusl. Pedide mch teat case v mgeest, soplain
hemr each temt mes aovers an entite cabegory of prerible cases,

1.

.y

names and heights identical. Thia crovers all cerem where the values are identical.

names idemticel, heighta differ by mare than 2. This covers all rarm where Tndividuala are diffarent
dua tn height.

. names ¥lentical, heighta differ by 2 ar les. Thia aoverms all cases whers heights are within the tnlerance.

. names diffar in length, heightr identical. Thia covers all mees wrhere Individuals differ by the length

nf their namea.

. names diffar m length, heighte differ by mare than 2. This aowems 2l carm where ndividual differ

in all reaperta.
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